Installation Manual

Engine bay protection 2333.4733.1 q RIVAL

WWW.RIVALAUTO.COM
Brand ; Model ; Year i Engine ; Gearbox ; Drive
Dacia Duster 2018- © 1,2T;16:1,5d | Manual, Auto | AWD, FWD

Inside nut M6
Skid plate
Inside nut M8
Cap
Cap
Bolt M6x20

Washer 6

Bolt M8x80
Washer 8

Installation instructions: Content: ! E
1. Remove OE Dust cover. Name : QTY @ Torque
2. Mount inside nuts M6 over the holes (A) at the front part of sub-chassis and Bolt MBx20| 2 pcs. | 98 Nm
screw in bolts M6x20 for a few turns. Bolt M8x80: 2 pcs. | 24'0 Nm
3. Mount inside nuts M8 over the holes (B) at the rear part of sub-chassis. Washer M6 2 pcs. | '
4. Mount front part of skid plate on installed bolts M6x20, rear part moun on Washer M8 2pcs. |
installed inside nuts M8 using bolts M8x80, central part mount on OE fitting Inside nut M6! 2pcs. !
points using OE fittings (C). Inside nut M8 2 pcs. |
5. Mount dust cover on installed skid plate using OE fittings (D). Skid platet  1pc. |
6. Tighten all screws. Cap: 4pcs. |

Tech support: e-mail: techsupport@rival-europe.com;




